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[1] #8PCB 88 %0.8 %24
N EEEEY 14 0.03 0.09
[[2]Y7emrbt” ==L 25 0.3 0.8
[13] hVZuvmbe” =)L 21 0.1 0.3
[1-4] 7 Fo 7 b 7 ==L 15 0.1 0.4
[1-4-11 275 F—PCBD H 5 33 44-F FF 7t 7 ==L (#77) 0.072 0.009 0.024
[1-42] =75 F—PCBD 5 5 344,57 FF7nnb 7 ==/ (#81) nd 0.009 0.023
[1-5] % /pnub 7 == 8.9 0.1 0.3
[1-5-11 2757 —PCBD 5 5 233442 X 7uubt 7=, (%105) 0.22 0.02 0.05
[1-52] =75 F—PCBD 5 5 234452 X 7uu b7 ==/l (#114) 0.023 0.009 0.022
[1-53] 2757 —PCBD 5 5 23 44,52 X 7uubt 7=/l (£118) 0.62 0.03 0.08
[1-5-4] =75 F—PCBD 5 5 234452 X 7uubt 7 x=,L (%123) tr(0.017) 0.008 0.022
[1-5-51 2757 —PCBD 5 5 33 44,52 X 7uubt 7 ==L (%126) nd 0.009 0.023
[1-6] ~F V7o b7 == )L 3.3 0.05 0.13
[1-6-11 275> —PCBD H 5 23344 5~FH 7ot 7 ==L (#156) tr(0.03) 0.01 0.04
[1-6-21 2753 —PCBD H 5 233445 ~FV 7o c=, (#157) tr(0.010) 0.008 0.019
[1-6-31 2753 —PCBD H 5 23 4455 ~FV7oab 7= (#167) tr(0.013) 0.009 0.024
[1-6-4] 275> —PCBD H 5 33 4455 ~FV7oatb 7=/ (#169) nd 0.008 0.020
[1-7]~7Z7aub 7 == 0.62 0.06 0.15
[1-7-112 75 —PCBD 9 © 223344 5-~7 % 7unt 7 ==, (#170) 0.050 0.008 0.021
[1-7-21 2757 —PCBD 9 © 2234455 ~7 % 7unt 7 x=)L (#180) 0.10 0.009 0.022
[1-7-31 2757 —PCBD 9 © 2334455 ~7 ¥ 7unt 7 x=)L (#189) nd 0.008 0.022
INE e tr(0.10) 0.06 0.14
9] V77 ==/ nd 0.03 0.09
[1-10) 77 uo b7 ==/l nd 0.02 0.04
[2JHCB (~FH 7o Pr) 96 0.2 0.4
[6-1] p ,p'-DDT 2.2 0.01 0.03
[6-2] p p'-DDE 3.0 0.01 0.03
[6-3] p ,p'-DDD 0.14 0.03 0.07
[6-4] 0 p'-DDT 1.6 0.01 0.03
[6-5] 0 p'-DDE 0.39 0.02 0.05
[6-6] 0 ,p'-DDD 0.12 0.03 0.07
[9-1] Parlar-26 nd 0.2 0.4
[9-2] Parlar-50 nd 0.2 0.5
[9-3] Parlar-62 nd 0.2 0.4
[10]~A Ly 7 A 0.06 0.01 0.03
AV TeEY 7=z =7 VE (RFEEP4DHI0ETDOH D) 9.6 %13 %3.1
[4-1 7 FZ7 707 2= —7 LV 1.5 0.02 0.05
[14-1-112244-F F 570 E 7 == )L=—F )L (#47) 0.54 0.01 0.03
[142] R X T aExy 7 2= —7 LV 1.3 0.08 0.20
[14-2-1122' 44522 7 0EY 7 = =)L —F )L (#99) 0.72 0.02 0.04
[143] ~FH T aEP 7 =L —7 LV 1.5 0.06 0.17
[14-3-1122'44' 5,5 ~FH T 0V 7 = =)L=—F /)L (#153) 0.97 0.06 0.14
[14-3-2122'44,5,6~FH T 0EY 7 == )L=—F /)L (#154) 0.40 0.05 0.12
[14-4) ~T X TaEY 7 2= —7 LV 0.74 0.08 0.20
[14-4-112,2'3,34,5,6-~7 X 7 0EY 7 = =)L=—T )L (#175) nd 0.06 0.15
[14-4-212,2'3,44,56-~7 47 0EY 7 = =)LT—T /)L (#183) 0.47 0.04 0.11
[14-5] A7 2T aEY 7 = =)L=—7 )L 0.44 0.04 0.11
[146] / F 7 0EY 7 == Lx—F L 0.7 0.2 0.4
4NN THT7aEY 7 2= )LT=—TF )L 3.4 0.8 2.0
[17] <> ¥ 7max P 61 0.08 0.22
[20] AR VLT 7 X L 330 %02 %05
[20-1] &/ Hafb )7 2% L U5 270 0.04 0.11
[20-2] VHifb 7 2 VB 43 0.04 0.10
[20-3] b Vb7 2 L S 7.9 0.03 0.09
[20-4] 7 h ZHifkF 7 X LUK 6.0 0.03 0.09
[20-5] Ry Z b7 X LR 1.4 0.01 0.04
[20-6] ~F Y ii{bF 7 X L IR 0.18 0.01 0.03
[20-7] ~7 (k)7 % L VM tr(0.019) 0.009 0.023
[20-8] A2 Z W7 7L nd 0.02 0.05
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AT G E WEME QRMEHD Mt R RAE | & T BRAE
RU~FY7auT L4 13-V 6,300 [ 5,700 [ 3,700 10 30
221X ruana 7= ) — L NNCEDOE LN A7 LV 39 %0.6 *1.6
[22-1] X% 7aa7=)—) 3.9 0.2 0.5
[22:2] X & 7muy =) —L 35 0.4 1.1
[23] BRI N T 7 1+ VJE 730 %210 %550
[23-1] iRk T 0 V¥ 210 60 150
232 ik T B 360 40 110
2331 T RT3 110 40 110
[23-4] HEFL NV 7 nd 70 180

(GED  Ter) (3B TR EE & FIRARM &2 BT 2,
(#2)  Tnd) I TBRHZEKRT S,
(E3) SE BRI T BRI R ARG O E B ] FIREOAFHME L L7z,



